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EEJOIE 184 155 29 18.7 137 112 25 223 74.5 72.3 2.2
®]) A 15 6 9 150.0 11 4 7 175.0 73.3 66.7 6.6
R 16 13 3 23.1 9 11 -2 -18.2 56.3 84.6 -28.3
)i P 8 9 -1 -11.1 4 6 -2 -33.3 50.0 66.7 -16.7
TRIEHXSE 68 41 27 65.9 47 22 25 113.6 69.1 53.7 154
BEEHSE 3 8 -5 -62.5 3 8 -5 -62.5 100.0 100.0 0.0
FRIEHLWNED 74 78 -4 -5.1 63 61 2 3.3 85.1 78.2 6.9
FEGXRID 552 696 -144 -20.7 411 407 4 1.0 74.5 58.5 16.0
BAE 505 645 -140 -21.7 391 386 5 1.3 774 598 17.6
FEXR 264 325 -61 -18.8 160 169 -9 -53 60.6 52.0 8.6
ZDih 241 320 -79 =247 231 217 14 6.5 95.9 67.8 28.1
BEEZX 26 13 13 100.0 11 9 2 22.2 42.3 69.2 -26.9
Vo1=KY 6 11 -5 -455 4 1 3 300.0 66.7 9.1 576
ENY 15 27 -12 -44.4 5 11 -6 -545 33.3 40.7 -74
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EEILGE 116 92 24 26.1 96 83 13 15.7 20 9 11 122.2
= A 8 3 5 166.7 7 3 4 133.3 1 0 1 0.0
G RS 14 14 0 0.0 4 12 -8 -66.7 10 2 8 400.0
)i ) X 6 5 1 20.0 6 5 1 20.0 0 0 0 0.0
TRIEHXE 42 20 22 110.0 39 17 22 129.4 3 3 0 0.0
BREREES S 2 8 -6 -75.0 2 8 -6 -75.0 0 0 0 0.0
FRIEHLWNED 44 42 2 4.8 38 38 0 0.0 6 4 2 50.0
FEGXRID 77 83 -6 -7.2 59 77 -18 -23.4 18 6 12 200.0
BAE 67 74 =7 -95 53 68 -15 -22.1 14 6 8 133.3
FEXR 25 27 -2 -74 23 25 -2 -8.0 2 2 0 0.0
FDih 42 47 -5 -10.6 30 43 -13 -30.2 12 4 8 200.0
BEERX 5 5 0 0.0 2 5 -3 -60.0 3 0 3 0.0
Uof=KY 1 1 0 0.0 1 1 0 0.0 0 0 0 0.0
EN 4 3 1 33.3 3 3 0 0.0 1 0 1 0.0




